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‘SECTION—A / avi—A
GENERAL KNOWLEDGE / ¥/ ¥H

1. Belur Math is the headquarters of
(A) Arya Samaj
(B) Ramakrishna Missic;n
{C) Sevashram |
(D) None of the above
2. Akhil Bharatiya Kalidas Samaroh is
organized in i
(A) Madhya Pradegh
(B) Rajasthan
(C) Bihar

(D) Uttar Pradesh

3. The famous ﬁovel, Godan of Munshi
Premchand is based on

(A) Zamindars
(B) Farmers
(C) Mone:ylenders
(D) Dalits
4, Shovana Narayan is famous for which
classical dance?
(A) Kathak
' (B) Bharatanatyam
(C) Odissi

(D) Kathakali
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B) wiFs e

(C) Qamm
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i
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(D) I W
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(A) SRt W
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5. The place in Rajasthan, Where Im{xa
conducted its nuclear tests, is =

st B

(A) Jaipur
(B) Udaipur
(C) Pokhran

(D) Ajmer

. The colour of i} ght is determined by its
(A) amplitude
(B} wavelength

(©)

intensity

(D) velocity

. The enzyme which helps in the

digestion of protein is
tA) I;;éase

(B} sulfatase

{C) trypsin

(D)} protease

- 8.~ The colour of blood’is red because of

R

(A) presence of platelets'
(B) presence of WBCs
(C) presence of oxygen .

(D) presence of haemoglobin

JAERA-01A/14/A

SF-
A

cefmyed

e §T

%

8.

ﬁmﬁmwmmzﬁam
vﬂé‘mﬁmm Cig

(A) SHEZL
(B) 3
(€) e
(D)} 3R

. Fretafea & & fored g0 v 1 @ i

R 27

‘(A)‘ maaammm
(B) z@% avieed gt
(C) zwh s g1
(D) wasénam‘

W o qre- | HEEE TN §

(A) IR
(B) wo%eE

() R \

(D) wikwm

T A i ¥

(A) e F wwo
(B) xaarfsasﬁmaﬁ%m
(©) azmﬁm%amw

(D) R % HRO



9.

10.

11.

12'

Find the missing number :..
1, 3,7, 15, 31, 2

(&) 63
B) 37
(C) 36
(D) 73

Find the.missing number :
76 : 42 :: 66 : ?~

(A) 63

(B) 12

(C) 35

(D) 36

If B=2, AHEAD = 18514, so 31385=7

(A) CCAHE

(B) CACHF

(C) CACHE

(D) CACEH

Anuj travels 8 km in north, then 3 km
to left and again 4 km to right. At last
he travels 3 km to right direction. How
far is he from his starting point?

(A) 11 km

(B) 12 km

(©) 15 km

(D) 18 km
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1, 3,7, 15, 31, 2
(A) 63
(B) 37
) 36
(D) 73
U &A1 F@ HIRT -
76:42 1 66 : 2
(A) 63 o
B) 12
() 35

(D) 36

gk B=2, AHEAD = 18514, @ 31385=?

(A CCAHE .

(B) CACHF
(C) CACHE
(D) CACEH
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13. Who is the Governor t;f Madhya

14,

15.

16.

Pradesh?

(A) Dr. Syed Ahmed

(B) Shivraj Singh Chouhan
(C) Ram Naresh Yadav

(D} None of them

In which district is the Kanha Kisli
Rashtriya Udyan situated?

{A) Umaria
(B) Shivpuri
(C) Mandla

(D) Panna/Chhatarpur

Historical city Ujjain is situated at the
bank of the river

(A) Narﬁlada
{(B) Chambal
{C} Kshipra

(D) Betwa

Who is the Minister of

Uttarakhand?

Chief

(A) Vijay Bahuguna
(B) Harish Rawat
(C) Veer Bahadur Singh

(D) Bhagat Singh Koshiyari
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(A) i@

B) fmgd

(C) wHuSe

(D) wAT/BaTH

15. ﬁmﬁ%wﬁwhﬁ%mﬁw%’?

(A) e
(B) W=
(©) faw

(D) @&
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(B) 9 Taa
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17.

18.

19.

20.

The Governor of the Reserve Bank of
India is

(B) Y. V. Reddy
(C) Montek Singh Ahluwalia

(D) Dr. D. K. Jain

Which person is honoured with Bharaf
Ratna with Sachin Tendulkar on 26th
January, 2014?

{A) P. R. Vasudeva Rao

(B) C. N. R. Rao

(C) Dhyan Chand

(D) Dr. A. P. J. Abdul Kalam

The Prime Minister of Baﬁgladesh,
Sheikh Hasina, belongs to which
political party?

(A) Bangladesh Nationalist Party

(B) Awami Leagﬁe

(C) Jatiya Party

(D) Bangladesh Conservative Party
Nobel Prize inh Literature for 2013 was
given to

(A) Alice Munro

(B) Mohd. Yan

(C) Michael Levit

(D) Peter Higgs
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21. The 17th Asian Games will.be organized

22.

23.

24.

in 2014 in

{A) Malaysia

(B) China

(C) South Korea

(D) Japan

The cost of sugar is & 16/ per kg, If it
decreases to € 14 per kg,:the cost is
decreased by

(A) 12:5%

(B) 11:5%

(C) 95%

(D) 85%

A 360 metres long trgip crosses the
360 metres long platform in 36
seconds. What is the speed of the train?
(A) 36 km/hour .

(B) 72 km/hour

(C) 80 km/hour

(D) 60 km/hour

The average age of A, B and C is

25 years. If the average age of A and B

is 28 years, what is the age of C?
(A) 21 years
(B) 24 years
(C) 27 years

(D) 19 years

JAPRA-01A/14/A
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(B) 11-5%
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25.

26.

27,

Civil Disobedience Movement wag sbéi‘ted
by Gandhiji on

{A) 12th March, 1930
(B) 10th April, 1925
(C) 11th January, 1927

(D) 16th December, 1935

When did ‘Sxmon Cognmlssmn arrive
in India? .

(A) 1928
(B) 1930

(C) 1919

(D) 1920

Ty

'Who wrote ‘Vande Mataram’ sang? .

(A) Bankim Chandra Chattopadhyay
(B} Rabindranath Tagore

(C) Abanindranath Tagore

(D) Surendrahath Banerjee

Khilafat Movement, 1919 was  mainly
launched by which two Ali Brothers?
(A) Mohammed:Ali and Shaukat Ali
(B) Hazrat Ali and Musarraf Ali

(C) Nazakat Ali and Haider Ali

(D) Ibrahim Ali and Roshan Ali

JAPRA-01A/14/A
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(A) 12 W, 1930 @I
(B) 10 3@, 1925 A
(C) 11 vFad, 1927 3

(D) 16 fF@=R, 1935 #

“re i P A s s
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29. Which mineral is found in monazite

30.

31.

32.

sand?
(A} Mineral oil
(B) Uranium

(C} Thorium

(D) Coal

Limestone is used as raw matenal by
which industry?

{A) Aluminium

(B) Sugar
(C) Cement

(D) Patson

The transpori: facility mainly used in
India is

{A) pipeline
(B} rail transport
road transpoft

(€)

(D} air transport

Which country is the major 1mporter of
coffee from India?

{A) United Kingdom
(B} China’
(C) Japan

(D) None of the above

JAPRA-01A/14/A
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29. WMeEe W A fekifes & @ e

30.

31

Gl v st 27

(A) @ @

(B) RFw

(C) «fem

(D) e

Frerffea # & FH-a1 FeT ST B =
el & ¥ & T H 7

(a) Tegfafm

B)

(C) e

(D) wewq

ﬁﬂﬁiﬁaaﬁﬁim-mmﬁug@wﬁaﬁ
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32.

(A) EYATE

B) W ufEs -

(C) w3H uREE

(D) Iy wites
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B) =

© s

(D) 3T 7 & B T



.33. The sectors are classified  inta public

34.

35.

36.

and private sector on the basis of
(A) employment conditions

(B) nature of economic activity
(C) ownership of enterprises

number of workers.employed in the
enterprise

(D)

Formal sources of ;:redit do not include
(A) banks

(B) cooperatives

(C) employers

(D) None of the above

Development of a country can generally
be determined by

(A) its per capita income.

(B) its average literacy level

(C) health status of its people

(D) All of the above

Among the following, which country
suffered disintegrationn due to political
ﬁghts on the bgsxs of rehglous and
ethnic identities?"

(A) Belgium

(B) India

(C) Yugoslavia

(D) Netherlands
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37. In the context of assessing democracy, 37. dda & qouied & e @ fafafag # @
which among the following is the odd B-T1 AU T §?

one?
S giifem = R
(A) wEx v Feg g

Democracies need to ensure

(A) free and fair election

(B) dignity of the individual (B) s i i
(©) majérl;ty rule | © m R
(D) equal treatment before law , (D) &3 & T HH
38. Seats are reserved for women in India 38. wiw # @t F fo W RN smawm A
in the | S R
(A) Lok Sabh; | (A) < Tar i
(B) Vidhan Sabha A B) fum wn &
(C) Ministry | - © nfviea #
(D) Institutions of Panchayati Raj ' (D) Gt TS el §
39. The author of Natyashastra is 39. ‘Trewme’ e €
(A) Sharngadeva (A) Ry
(B) Bharat Muni (B) mgﬁ
(C) Pt. Ahobal Q) o T
(D)} Pt. Ramamatya D) Yo TR
40. ’gl; ﬁtrrl:\’:eelei:tisof the’ faanus: novel, PP S € O o8 %
(A) Sharat Chandra Chattopadhyay (A) TR FEAH
{(B) Munshi Premchand - (B) WW
(C) Dharamvir Bharati (C) it et
(D) Mahaveer Prasad | (D) ¥R YR
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(B) wwER G
© e T

(D) weR g fig

- FPT.O




49,

50.

51.

52.

““grerll e g gEhH
yaeh 1 oft B Af s
I -GN 1 WIER B 37

(A) T
B) GaEEm
(C) TR W™
(D) ¥y T

‘F o Wi’ i wivar & @ @ am
7 37

(A) werars f3ad
(B) rrmﬁqm
(C) TEFTE Igael

(D) WATHEREY ey

ST T T TRl W e AT
(A) =g

(B) %

(C) =

D)

“iga 3 I g W FER T
7 Hemfy-&et W oAy w@ wwwEn”’
I At & o e w1 ST gew ¥7

A) B
(B) aWF
() fasran
(D) wdq
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- B3. e B % Tea R e = 7 foeaelt wmmd

54.

55.

et 87

(A) 13-13
B) 11-11
(€ 11-13

(D) 13-11

“oxit & adt T
¥ &, el e,
LRSS
He-TY-8T A
I uftral F =y 3 fres dved w1 R
¥ :

(a) s

(B) Y

(C) =
(D) &

“q e i W g, WS —

& g W = A,

717 350 W w9 |

Yt g 3P W)’
e g Tl T e o Rew
v T fon e 27

(A) W e
(B) SETEETS Ig&
(C) WER =W

(D) wewAr it

ot - e s T i R



§6.

57.

58.

59.
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‘i’ o wEeht F Ew w1 AW Y
(A) =gEa el

(B) SSi=ROT S

(C) W=

(D) rgqEE AR

frafafas § @ SF-d SIv @R H @0
Wiﬁ%?' A

(A) Fenum
(B) FFH FJA
() hfae
(D) et

‘o # yy’ ferae THA-wE 27
(A) e

(B) T FAN

(C) =it ax

(D) TgER wE™

“frna A R @ ol el A g )
™ 9 & dRrr §, @ =it aew W,
et 3R 3nfE ¥ vl =@ wlhe A1 A fgmw
w1 @ w2 T g A vewl 9 afEm §
o 7@ F R m

¥ uftat & form forwe o ==t g R0

(A) reieEeT T

(B) IYMIwER |

(C) Tt iR 3EfEt |
(D) Afwa
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60. Pl & & P-d e o Riags
gavf W foreh 7 27

(A) ST FE @
(B) U= TOAR
(C) T Al W
(D) el

61. ‘I % e’ Rt TEegt T e 7
(A) TR T |

(B) FAE A €I

(C) vt amf

(D) GWsT FAR g

62. i<t i sgafla somw ‘S’ w1 duw

W 87
(A) HiETRE e
(B) s e
(C) SESEHN Fn "
(D) wHER
63. m\#-tn TR oW T IR B2

(A) F= |

(B) aHwfer

C) &=

(D) TR

[P.T.O.




64. ‘TR s fRa wfY & s R -
(a) T wfa
(B) ornfe wfy
() =ism ul®
(D) fat afw

65. ‘wrifd’ wee fFw www @ = 27
(A) =gl
B) ==
(C) er=rfvE

(D) qIH

66. &% W gl &
(a) Fram o @ yuE @
(B) Fek e wmyamd
(C) ﬁﬂw“c@manm@m?
(D) I & @ A T

67. H-G1 MR IS WA 1 IaTeRwr T 37

(A) g
(B) uzafera
(C) wwrdA

(D) @AIH

JAPRA-01A/14/A
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68. TQT T H-¥1 }7?
(A) ITES
(B) et
(C) - 3tifh|
(D) 3FHA

69. @ T TE }
(A) IFETER
(B) e
(C) 3@

(D) s&

70. TaTEETE TR H PA-G I T T {7
(a) aFE—aiR
(B) w-fagm
(C) STTa—T™

{D) =PI

71, ﬁmﬁvﬁéﬁﬁﬁﬁq-mawmwhamw

T Y

(A) =
(B) &
() =ifs

(D) T




72.

73.

74.

75.

76.

Frefefes & ¥ Fem M fa-a g

& 8

(A) SAftF—3Teq
(B) wIR-FWA
(C) STRFV-JR¥
(D) Fea-Thu

Frafalaa # @ F9-a1 gw Radadds 87
(A) IF-9F
(B) THi-faw

(C) TEF—gmH
(D) uru-feey

T w1 e o= &
() @ |
®) g

(C) woa

(D) 3w & A Fd 7

ard ) gft A T F e e g &7
A [ '

(B) T

(C)

(D) <

o ara % v v ol = Rl da R, a7
%

(a) P
(B) nfya ar
(C) §IH T

(D) €@ aH
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7.

78.

79.

80.

frtyle ¥} IW-m T e 7

(A) 8 N9 HE T B
(B) % 3T W gy @l B
(C) T YR %y H B

(D) @ A & 5 w2

frfafla & @ SR-a1 am g 37
(A) 9 71 P o R

(B) ¥ P g

(C) =T T qrtere wroft R

(D) 3 g W fram Hife)

Frafafaa & @ frw g § famm REl =
3Fa wEwT gem 37

(A) o-Ya-g s g e o &
(B) T, g foan w1 w87
(C) TR 3T @M, TH W & A1 =YY
(D) ¥7 T w1, TE& wE qm?

frafofen & ¥ fed o R = ogfm
TR T 27

(A) 3w, e, € onfe)
(B) g, %ﬂ:{-’lﬂl" aq
(C) ! gH == M

(D) T A T R
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81.

82.

83.

84.

SECTION:-C /| 9m—C
GENERAL ENGLISH / QW= s

“He retired from business owing to hi
ill health.” \

Replace the underlined phrase with
a single word/group of words.

(A) since
{B) because
(C) as because

{D} because of

—— I am poor I am honest.

(A) Because

(B) While

(C) Though

(D} Where

Not only did Raman lie, he —
cheated his clients.

(A) again

(B) absolutely

{C) even more

(D) also

We find hardly a man who sits down
and writes a/an —— letter.

(A) bold

(B) attractive
(C) wonderful

(D} good

~

JAPRA-01A/14/A 24

85. —— letters are addressed to newspaper,
leaders and high officials.

(A) Personal
(B) Business
(C) Editorial
(D) Official
86. It is the men and women behind the
machines and the people who manage

the technology who are critical in
bringing about these improvements.

The word ‘critical’ in the passage means
(A) analytical
(B) crucial
(C} judicial
(D) judicious

87. 1 prefer the radio set, the good old box
by your bedside. And here, again the
older and the larger the radio set the

better for me. I do not like these new-
fangled transistors.

The word newfangled’ suggests
(A) very complex

(B} recently assembled

(C) colourfully decorated

(D) newly came into fashion

88. I —— you to keep quiet.
(A) beg from
(B) beg for
(C) beg of
(D) beg

e B AR T



89.

900

91.

You ~—— that yau-liked the book. . .t
(A) said

(B) saying

(C) tell

(D) telling

The garbage was -——-LO‘t.lt ‘
(A) throw
(B) threw
(C) thrown

(D)} throwing

He —— the ‘doorbell.

‘ (A) push

(B) rang
(C) ring

(D) ringing

92. — you live long!

JAPRA-01A/14/A

(A) Can
(B) Must
(C) will

(D) May

25

96.

93. I msh 1 ——:change my fate.
(A) could |
(B) may be
(C) will

(D) would

94. — you always interrupt me?
(A) Must not

(B) Must

(C) Might

(D) May be

95. I do not know —— you are thinking.

(A) where
(B) what
(C) while

(D) as

She is going to go —— nobody is going

fi -

“to find het,
(A} what
(B) when
(C) there

(D) where

[ PARO.




97. The police do not know .—— the

98.

100.

accident happened.

(A) before

(B) after

(C) when

(D) what

They have never been poor — they
opened the shop.

(A) since

(B) so

{C) just so

{D) while

Mona went to the dancing séhool —_
her father wanted her to.

(A) because of

{B) all because

(C) just because

{D) so because

The robbers Broke into the house.

—— the family was away on vacation.
(A) just until

(B) so

(C) as long as

(D) while

JAPRA-01A/14/A
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101.

102.

103.

104.

Anu wants ——— apples -to make a pie.
(A) some

(B) any

(C) one

(D) little

Soma could — take the blue coat —
the green one but not both.

(A) either, or

(B) neither, nor

(C) either, nor

(D) neither, or

Only a — beggars were out in the
streets.

(A) little

B} lot

(C} few

(D} couple

Fill — the application form.

(A) out

® in

(€) up

(D) over

e TR S

e B



105. The gow jumped —— the: fence. 109. The synonym for ‘consequence’ is

(A) above (A) cover
(B) over . (B) result
(C) below (C} sequence
(D) across
(D) fall
106. What are you looking —?
: ' : CoTe s S 110. The synonym for ‘couple’ is
(A) few
(B) in
(B) some
(C). to
(D) out (C) two
PR (D) many
107. Pick out the appropriate word to join
the two sentences given below :
The moon was bnght Co 111. The antonym for ‘diversity’ is
We could see our way.A (A) similarity
{A)} but
(B} variety
(B} though .
(C) desirability
(C) however )
/ (D) disparity
(D) and P

112. The synonym for ‘nutritious’ is
108. He has some bijlls —— he must pay.

(A) whom () strong
(B) where (B) benefit
(C) which | | (C) health
(D) who | (D) healthy

JAPRA-01A/14/A 27 s [ P.T.O.




113. The antonym for ‘beautiful’ is
(A) ugly
‘(B) ordinary
(C) pretty

(D) dowdy

114, The antonym for ‘create’ is
(A) destroy
(B} destructive
(C) destruction

(D) destroying

115. The antonym for ‘sweet’ is
(A) bitter
(B) sour
(C) tasty

(D) plain

116. — there is life, there is hope. "
(A) Whether
(B) Either
(C) While

(D) Obvious

JAPRA-01A/14/A
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117. While climbing the tree, the boy was

118.

119.

120.

—— by a bee.
(A) sting

(B) stang

(C) stinged

(D) stung

“She is very much sweet and beautiful.”

Identify the word that has to be omitted.
A) is

(B) and

© very

(D} much

“We talked over the matter for an hour.”

Replace the underlined phrase with
a single word.

(A) talk
(B) discussed
(C) thought

(D) reflect

One should keep —— promises.
(A) one’s

(B) her

{C) their

(D) his

e e A S RIT



SPACE FOR ROUGH WORK 7w &/l % TRy wuw

JAPRA-01A/14/A 29 . LT,




JAPRA-01A/14/A

SPACE-FOR ROUGH WORK: / % &R &g o

30

-

A

gt s g T R



SECTION—D / sm——n
GENERAL MATHEMATICS / T rrﬁna

121. A tree breaks due to storm and the

122.

123.

broken part bends so that the top of
the tree touches the ground making an
angle 30° with it. The distance between
the foot of the tree to the point where
the top touches the ground is 8 m. The
height of the tree is

(A) 12y5m

. (B) 8/3m

€) 24m

(D) 12m

Consider a tent of shape of a right
circular cone having a base of
13-86 sq. m. The material used to build
the tent costs € 3,465. One metre of
that material costs ¥ 150. How much
air will the tent contain?

(A) 13524 lit
(B) 13452 lit
(C) 12936 lit

(D) 12369 lit

If Sis a finite sample spgcéfand A'B
are any two subsets of S, then

P(A)=P(ANB)+ ?
(A) P(AUB) |
(B) P(B)
€ P(AnB)

(D) P(A’nB)

JAPRA-01A/14/A
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121.

122.
H AEwA 1386 o ¥} T wW R

123.

@H % FHRO Th 9 g2 e & e g gen
e g Sl & S St & W 30°
TF w3 39 farg, wwl ¥ W o
i = G 2, ¥ A U8 F R F i A
g 8 dfio 31 Y5 A F=d § ‘

1275 #to
(B) 8J3 o

(a)

(C) 24 o

(D) 1270

T TR WG & DR & T T & AR

¥3,465 T W fowe o R @ A
o =1 ge € 150 7, ?ﬁaqﬁﬁm‘iea'r
f?
(A) 13524 o
(B) 13452 fto
(C) 12936 o

(D) 12369 o

msmwﬂﬁam%%%z& B B
S ¥ svaged §, &

P(4)=PANB)+ ?
(A) P(AuB)
(B) P(B)
(C) PANE)
(D) P(A’B)
- [pTO.




124. Three identical dice are rolled.r The - 124, O, @WF TERN & gedrm st gl &ft

probability that the same number will qEel ¥ SR GAM den T a @
appear on each of them is o R 2 ,
1
A = o
6 A) =
(A) G
1
B) —
1
36 B) —
36
1
C) —
(©) T o 1
D) —
(D) T 1
D) —
() 12

125. The weighted arithmetic mean of the

first n natural numbers, whose weights )
are equal to the Corresponding 125. qg?ﬁ n Y@ﬁﬁ‘? FI'@T:‘»ﬁ E Wl'?('ﬂ R HIEy,

numbers, is equal to o 9t 3t deeilt F e §, B
2(n-1 _ |
(A) 3 , () 2('13 1)
2(n+1]) .
(B) 3 B) 2(n+ Al)
. . . 3
2n-~1
© -
3 n
(€) 3
(B) 2n:: 1 | | on+1
(D) 3

126. The standard deviation (SD) of the
numbers .

126, denal 1, 2, 3,4, 5,6, 7, 8,9, 10 %
1,2,3,4,5,6,7,8,9, 10 |

u T 1 O ¥, T
is approximately

w287 @A) 2:87
(B) 321 ®) 321
€ 2-78 : - (C) 278
(D) 825 (D) 825
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127. ¥ p and q are chosen at random from

128.

129.

130.

the ‘set {1, 2, 3, 4, 5} with replacement

~ -then the probability that the:roots of the

equation x 2 +px+gq =}.Q be real, will be

A) 13

(B)

25
1

5

12

© 5

3
@ <

If.the length and breadth of a rectangle
are doubled ‘then the percentage
increase in the area wiﬂ be

(A) 150%
(B) 200%
(C) 400%
(D) 300%
If the areas of three adjacent sides of a

cuboid are x, y, z respectively, fhen the
volume of the cuboid is

(A) xyz

(B) 2xyz

(€ Vxyz

(D) 3yxyz

A sphere and a cube have equal surface

areas. The ratio of the volume of the
sphere to that of the cube is

(A) Vn:V6
(B) v2:n
(C) Vm:J3
(D) V6:4n

JAPRA-01A/14/A
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127. 3R _p M. g WB® % ¥ whowaa &
WY W {1,2,3,4,5 % W W@ E, A

,ﬁ‘ﬂﬁﬂx +px+q O%Tﬁﬁﬁmﬁlﬁiﬁ

" me’ﬁﬁmﬁmmﬁ'ﬁ

128.

13

A)

(B)

25

!

5

12 -

© =

3
@) <

AR @ A A v g el QTR

@, @ A fw IR Rl

129.

130.

(A) 150%

(B) 200%

(C) 400%

(D) 300%

Th AN & G Gl & REh B
X Y, z%,?ﬁmamamm% “

A) xyz

B). 2xyz

(© xyz

D) 3Jxyz
@ﬁﬁ%pwm’viwm%g%

W%w%lﬁémw%mﬁm
I 2

A) vn:J6
B) V2:4n
(C) vn:VJ3
(D) V6:vn -

S PT.O.




131.

132.

133.

If the solution of the system of linear
equations 3x-§-5= 0 and 32‘-+2y= 7

satisfies the linear equation %«L%’ = p,

then the value of p is

A 4

B) 2

€ 1

(D) 3

For what value(s) of a, the following

system of linear equations will have no
solution?

x+ay=1, ax+y+4=0
(A) a=0
B) a=4
(C) a=%1
(D) a=4%2
The area of the parallelogram formed by

the lines y=mx, y=mx+1, y=nx and
y=nx+1 equals

(A) im+nj
(m—n)z_ .
2
(®) |m+n|
© —
m+n
.
(D) Ty

. JAPRA-01A/14/A
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131.

132.

3R 3x-§—5=0 3 §+2y=7 feeic

gl & w1 e, W o

ga,%:paﬁﬁ'gzm%,ﬁpmm%
A) 4
(B) 2
€ 1
(D) 3

a % fra 7R ¥ o Yelr wieon % fe
Rreew %1 R wome & @m?

x+ay=1 ax+y+4=0
(A) a=0

(B) a=4

©€) a=+l1

‘(D) a=12

133. @& Wit y=mx, y=mx+1, y=nx 3R

y=nx+1 B0 7ed WARR SgiE W
CELRY

@) (:l”_"r;‘,",
®) ,minlv
© ——
() |min|

T



3x+2 | 3x+2 & fig+1

134. If X th 134. . _ = .
. ;ff;) 3%=3 then e value of Wf(;) o2 " Fas I'GFWFI%
X
‘f(x) 1 ' 2
2 (A) In
(A) 3
3x
B) —
3x 2
B) —
2
3x+3
(©) 3x+3 : © 3x-3
3x-3
o = | =
2x :
135. If x -1 =1 then the«‘;raiue of x(x; é) 135. Wix"?'-i- = .}.,{ﬁ x(x—-}-) AR
is
(A) 3
(a) 3
1
- % B) 5
1
o1 © 3
D) 1 01

136. If fix)=ax®+bx+c and f=6, 186. WM flxj=ax?+bx+c W fy=s,

f@ =11 f(3)=18, then the value of f@ =11, f(3=18 A f-)FMa@
fl-)yis ~
A) 2
B 1 B) 1
(C) 13 (C) 13
(D) 4 iy (D) 4
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X

L
137. if fw=

I (7))

is -

o1

(A) 991

(B) 992
(C) 996

(D) 998

138.
A) 3:2:4
B) 4:2:3
(C) 4:6:3

(D) 3:4:8

139.

If 3x =2y =47, then x:y:z=? "

> then ‘th'e value of

)

The sum of the digits of a two-digit

number is 9. If the digits change their

places,

then the ratio of this new

" ‘number and the first number is 3:8

“The first number is

A) 81

(B) 45

c 72

(D) 90

JAPRA-O1A/14/A
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138.

139.

1

137.

W ) =

f(19197) ¥ f(19297) ¥

UM R

o

(A} 991
(B) 992
(C) 996

(D) 998

W3x=2y=4z;ﬁx:y:z=?
(A) 3:2:4
B) 4:2:3
(C) 4:6:3

D) 3:4:8

TF Q- HEAT H bt B AT 9 ]| IR
I F - H WE ¥ www e i, o
mqﬁmaﬂwﬁﬁmmws 881

el qE R

@A) 81

(B) 45

€ 72

(D) 90

1996

1997

)




1400

141.

142.

The ratio of the angles of a triangle:is
2:5: 3. The value of the greatest angle
of the triangle in circular measure is

(A) =n°

®)
(©) §n°

1
D)

f a and B are the roots of
ax? +bx+c=0, thén’"? the value of

J%—ﬂ/%is

@A) - 2b

(B)

I

©

8l

(D) 2b

#

Ifp and qareiﬁefn&ts of the equation
x2 + px+q=0, then

(A) p=1: q="2
B) p=0, g=1
© p=-2,g=0

D) p=-2, g=1: =

JAPRA-01A/14/A

 141.

37

0. frlt e & Hit @ s 2:5:3 R}

142.

B 3 weraw Sivl &1 AW gei aiee § }
(A) =€
(B)

(C)

D)

3R ar:}sfk\ﬁ,’ ax? +bx+c=0 & TS g,
o =P
?RJ;+J;’$IW%

(A)

Bls

(B)

Qs

&)

gl=

o)

i

WRpSﬂTq,b)c.‘2-‘!'-px:+-q=Oai"1§T§,ﬁ
A) p=1, q=-2

B) p=0, g=1

©) p=-2, g=0 5

D) p=-2, g=1

L PRITHO.




143.

144.

If one root of x2 -x-k=0is a square
of the other, then:the value of k is

(A) 2143
(B) 3:42
(C) 2+V5

(D) 5:+2

A reduction of 10% in the price of tea
enables a dealer to purchase 25 kg

" more tea for ¥22,500. What is the

145.

original price of tea per kg? ‘
(A) €90

(B) ¥ 100

() €110

(D) None of the above

The population of a city is 9765625.
What will be its population after
three years, if the rate of growth of
population is 4% per year?

(A) 19850000
(B) 21298100
(C) 29811200

(D) 10985000

JAPRA-01A/14/A
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143. AR x2 - x -k = om@{a@waﬁﬁ

144.

145.

a kwm%
A) 2143
(B) 312

(€) 25

(D) 542

I f fma § 10% A FH F IR0 &
=Rt 25 fRo o it wm € 22,500 F
wie § wam A 31 W fo Wo = B 1w
$ma 71’7

(A) €90

(B) €100

() €110

(D) s # | =g 7

TH WR @ TS 9765625 B! 3N

e & gfg Bt | 4% W ad @, @ 4.

(A) 19850000
(B) 21298100

(C) 29811200

(D) 10985000




146.

147.

148.

What is the compound interest on
¥20,000 for 13 years at the rate of
10% per annum when the interest is
compounded semiannually?

(A) €2,351-50
(B) ¥3,251-50
(C) ¥3,52550

(D) ¥3,152:50

The area of the
triangle inscribed in
x? + y2 -4x-2y=1lis

equilateral
the circle

(A) 16V3

(B) 442

() 12V3

(D) 6V3

Let AB be the diamsferjof & circle
centred at O. If P ‘be any, pgint on
the penmeterv of the circle and
ZPOA = 120°, thén ZPBO 2%

(A) 45°
B) 30°
(C) 90°

(D) 60°

JAPRA-DIA[14IA
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146. IPTHE-aTE R | =AW W fwe fen s,

147,

148.
@M AB ?| 3 30 R.-9Rf W wW P #E

@ £20,000 W 11 € & frq 10% =iw
T il R/ A Ty S 1 Y

(A) ¥2,351-50

(B) ¥3,251-50

(©) ¥3,525-50

(D) ¥3,152:50

T x2+y? -4x-2y=11 ¥ @I TOF
e &1 & #

16V3

®

(B) 442

(C) 12V3

(D) 6V3

nﬁt«ﬁﬁ!{@gﬂ,ﬁw%ﬁﬁg 0% =
firg ® ollt £LPOA = 120° &, @ £PBO =?

() 45°
(B) 30°
(C) 90°

(D) 60°

[ PLT:O. ;




149. Let PA and PB be two tangents of ‘a 149. W #iNL PA 3R PB @ 34, o &=

circle centred at O. If OA =24 cm and frig 0 3 H I wni-tEr 21 I
OP =4 cm, then the perimeter of the OA =24 Ro o 3t OP =4 Qo o & A
quadrilateral AOBP will be - i AOBP 3 SR T HH 2T

(A) 11-8 cm @) 118 do o

(B) 156 cm B) 156 Fo o

(C) 112 cm © 11286 o

(D) 132 cm

(D) 13-2 @o o

. ircl 2+y%-6x-2y+9=0 .
150. The  circle x“+y X -2y 150.§ﬁx2+y2-—6x-2y+9=011ﬂf$(61%

touches

(A) X-axis | (A) X-31g &

(B) Y-axis ‘ (B) Y-8 ®

(C) both the axes | (©) <t et

(D) None of the above (D) 3T & @ ¢

{

151. In a triangle ABC, a straight line  151. @ BYs ABC # @ @@ Y@, &1 BC %

parallel to BC cuts AB and AC at points "HHFR @ W AB IR ACHI D WE
D and E respectively. If AE = 2AD, then faget W www: RwRm =@ &1 emw
BD:EC=7? : ;

AE =2AD®, @ BD: EC=?

(A) 1:3

A) 1:3

®B) 1:2 (B) 1:2

© 21 © 2:1

(D) 3:1 D) 3:1
JAPRA-01A/14/A




152. The equation of the™ straiﬁt line

153.

154.

passing through the  peint: (3 2)
and perpendicular to the straight line
y=xis

(A) x-y=5
B) x+y=5
€ x+y=1

D) x-y=1

The straight lines ax+by+c=0 and
Ax+By+C=0 are perpendlcular to
each other, if

(A) aA+bB=0
(B) aB+bA=0 C
(C) AB+ab=0
N\
(D) None of the above
The value of

tan22° + tan23° +'tan 729, tan23°

is
A) 1
B) 2

©

N =

(D)

Niw

JAPRA-01A/14/A
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152 32 fag A f T A wa @ W=

153.

154.

gfr R, W oy=x W& W %
g 27

A} x-y=35
B) x+y=5
C) x+y=1

D} x-y=1

LG Tand ax+by+c=0" 3R

Ax + By + C= 0 TH-g@ & &aq 8, 4%
(A) aA+bB=0

(B) aB+bA=0

(C) AB+ab=0

(D) I & ¥ =

tan22° + tan23° + tan22°.tan23°
pic

<Rl

@A) 1

B) 2

(€

N =

(D)

Nilw

[ P.T.O.




155.

If the diagonal of a certain square is

_-doubled, then by what factor does the

156.

157.

area change?
@) 2
®) 3
) 4

(D) None of the above

a? -b2

If sin6 = , then the value of
a? + b2

tan® is

a? + b2

@ —

2ab
B) ——
a? -b?

4

a? -b?

© 2ab

(D) 2ab(a? - b?)

Which one of the following is the value
of sin1755°?

A)

®) -

-1

(€ 7

(D) None of the above

JAPRA-01A/14/A
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155.

156.

157.

R} & T w1 Tt @ oS, @ oEE
Smwe o faean T gfs Seft?

@A) 2
B) 3
© 4

(D) 3w 7 & =18 &

a? - b2

W sinb = , dl tan @ 1 A W
a? + b2 e

a? +b?
2ab

(A)

2ab
B) ——7>
D a2 _p2
a? - b

© —

7/

(D) 2abla? - b?)

fraiRea 8 @ sin 1755° %1 9 F@1°R?

(A)

B) -~

(€

(D) g & & 9 W




158. The value of

159,

160.

v .”}) }:5“5:‘ o
c0s1°.cos2°cos 3°. ... .cos179°
is

1

(A) ;i
B) 0
€ 1

(D) None of the above

A statue, 1'6 m tall, stands on the top of

a pedestal. From a point on the ground,
the angle of elevation of the top of the
statue is 60° and from the same point
the angle of elevation of the top of the
pedestal is 45°. The height of the
pedestal is

(A) 05W3-1)m

(B) 0-4RV3+1)m

(©) 08W3+1)m

(D) None of the above

A Kkite is flying at a height of 60 m above
the ground. The string attached to the
kite is temporarily tied to a point on the
ground. The inclination of the string
with the ground is 60°. The length of
the string, assuming that there is no
slack in the string, is

(A) 40V3m

(B) 80v3m

(C) 203 m

(D) 60v3m

JAPRA-01A/14/A
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w1 71880608 1°.0082% cos B°. ... .cos179°

159.

160.

-
Lich

1

w -
B 0

€ 1

(D) 3w # q A T

& 7fd, S 1-6 Mo el }, TH I F FN
it 81 R W o g A g % s oW
IFA-F 60° ¥ IR I B g ¥ e &
SR B IATA-HI 45° B A i I 2

{A) 053 -~1Ho

(B) 0-4(2V3+ 3o

(C) 08W3+1He

(D) 3w & & B &

T Yo Sl | 60 Mo A I W I3 W B
T ¥ gel g wwn N % o fag @
st w9 @ dor gon 31 WA & 3@ AW -
FFE 60° ¥ uW iy 98 gvn w W e
¢ R, @ 39 U B wd ?

(&) 403 Hio

(B) 80v3 o

(€) 20J3 o

(D) 60V3 o

- [ PTiO.
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' ‘SECTIONLLE /' WW—E"
GENERAL SCIENCE / = fagm
( Physics / weref-fagm )

161. Which of the following is a star?
(A} Earth
{B) Moon
(C) Jupiter

(D) Sun

162. Which one of the following is the world’s

most abundant fossil fuel?
(A) Methane

(B) Biodiesel

(C) Petroleum

(D) Coal

163. The unit of charge is
(A) ampere-cm-second
(B) ampere/cm-second
(C) ampere-second

(D) ampere/second

JAPRA-01A/14/A
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161.

162,

163.

e 3 3 F-a1 v Reaw 87
(A) v

(B) =k

(©) awf%'r.

D) ¥

= % ¥ IR-W g weR SR aE
% Iyctsy Sfaren (fossil) $e &7

(A) &R
(B) WSS
(C) Wferm

(D) HF

AN (STSF) T R
(A) UYEI-Bo THio-Tehrs
(B) Tfm/Ro Ho-Bwre
(© Urm-dse

(D) ¥RR/AHe



164.

165.

- 166.

(B)

The decomposition of eélectrolyte by
electricity is known as

(A) electrolysis

{B) electropolishing

{C) electrorefining

(D) conduction

How much time sunlight takes to reach
on the earth approximately?

(A) 1 minute

(B) 4 minutes

(C) 8 minutes: "

(D) 16 minutes

The light which results into the largest
bending angle during the dispersion is
(A) blue

(B) green

(C) red

(D) violet

167." An image forméd by the convex mirror

is always
(A) real and diminished

virtual and diminished
(C) diminished and inverse

(D) virtual and magnified

JAPRA-01A/14/A
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164.

165.

farsreft 2T TOTIRE 1 SR FEEA R
(4) oo (i)

(B) faga-wwme

(C) T

(D) =

gl T g % R g A A % R
ATTIH GG T T 7

14) 1 fme

(B) 4ﬁ;rz

() 8fmz

(D) 16 fFe

166. SehviT & I SHREFRIH F-H0 AT
?

(&) e
(B)
(€) w=

(D) S

167. e ador g B ofy s & A 37

(A) araf® i B
(B) I I B
(C) o IR I

(D) et s ==t

" [P.T.O.




168. Light-year is the unit of 168. THNI-IH THE ¢

(A) time (A) W R
(B) distance | (B) @ £
(C) speed‘ © Ry
(D) acceleration D) =@
5% e, the vahue of angle of efraction. 169, ¥ e 3 sy 3 st ¥, e
is HV H AH BT
(A) equal to the angle of incident (A) M-IV H TER
(B) greater than the angle of incident (B) 9G-S q At ¥

(C) less than the angle of incident (C) INUG-HNT F FH

(D) greater than or less than the angle

of incident (D) SRR § o SFert F
170. The moon is the earth’s 170. S5A1 Yelt I
(A) asteroid (A) B AW g
(B) natural satellite ' (B) urhfoes SumE ®
(C) planet ) w2

(D} polestar (D) W%

171. The critical angle is the incident angle ' =
of light at which the angle of refraction 171. SR FSH-H o0 W, 5

is G- A RS
(A) 30° , A) 30°
(B) 60° | B 60°
© 90° o © o
(D) 45° (D) 45°
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172. Photovoltaic cell conyerts the‘;.:'solar

173.

energy into

(A) electricity

(B) chemical energy
(C) mechanical energy

(D) geothermal energy

Identify the non-renewable
source from the following.

energy
(A) Solar power
(B) Hydropower

(C) Wind power

(D) - Wave power

174. A wiré of radius r has resistance R. If

178.

the radius of the wire is reduced to r /2,

the resistance of the ‘wire will be

(A) 2R

B) R/2

€ R/4

(D) 4R

The earth observes many seasons
because

(A) the earth i# ellipﬁcal

(B) the earth is tilted_

(C) the earth gets closer to the sun

(D) the sun gets hotter and colder

JAPRA-01A/14/A
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172. T%

173.

174.

175.

e, S e S B e el
AT RT

(a) fosreht

(B) Temaf =t
(©) zrraas &

@) ¥ F=i

= & A srfieofa Sei-d | gt
() dx wfw

(B) v Wi

(C) wam Wt

(D) a1 Wi

T ar @ B r @ 3R SEen afody R Ry

AR A B r AR r/2 00 8, A
et gfedy H 1 gm?

(A) 2R
(B) R/2
(C) R/4

(D) 4R

geft W E Hew g 8, FifE
(A) gezﬂawm%

@ TR
(€) vl g ¥ wlw A wh §
(D) gd i i Fuer & S }

[P.T.0.
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( Chemistry / W@EA-&EH )

176. Buckminsterfullerene is an allotropic 176. THHTTGRA FhEHT TaET 27

form of A :

A} phosph

(A) phosphorus (B) T

(B} sulphur ©) .

(C) carbon o) .
‘ D

(D} tin

177. CH,CH,OH T KMO,+ 3 _,

177. CH3CH2OH Alkaline KMnO, + Heat N

CH;COOH
CH,CO0R e SR § KMno, R wW d
In the above reaction, KMnO, acts as = 27
(A) o:ﬁdizing agent . : (A) ST FHF
(B) catalyst (B) T
(C} reducing agent () Fw=rh wiE
(D) dehydrating agent D) Friem Fbw

178. The time taken for 10% completion of a
1st order reaction is 20 minutes. Then

178. v A H wfafem &1 10% qof @9 &

for 19% completion of the reaction, how 20 fime = & @, @ 19% ik TY
much time it would take? B # fraen v wm?
(A) 40 minutes - (A) 40 fime
(B) 60 minutes (B) 60 fime
(C) 30 minutes (C) 30 fime
(D) 50 minutes (D) 50 frme
179. K, for CH;COOH is 1.8x10™° and K, 179. CH;COOH % faw K, 1.8x1075 & ok
for NH,OH is 1.8x107°. The pH of NH,OH & faq K, 1-8x 1075 1 smifem
ammonium acetate will be ¥l = pH & ‘
(A) 7-005 (A) 7-005
(B) 475 (B) 475
< 7 © 7

(D) between 6 and 7 (D) 63R7F N
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180. The number of molecndes of ‘wateriof = 180 A-oAW ¥ BRediem & o & ST‘gaﬁ &t

181.

182.

183.

crystallization in Mohr’s salt is
(A) 12
(B) 6
(C) 3

(D) 15

The chemical formula of potash alum is
(A) KAI(SO,), - 12H,0

(B) (NH4),FeSQ, - 6H,0

(C) KAIMgCl, - 6H,O

(D) Na3AlFg

Which among the following alloys
contains mercury as one of its
constituents?

(A) Stainless steel
(B) Alnico
(C} Solder

(D) Zinc amalgam

Which of the following can undergo a
chemical reaction?
(A) MgSO, +Fe
(B) ZnSO, +Fe
(C) MgSO, +Pb

(D) CuSO, +Fe

JAPRA-01A/14/A
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181.

182.

183.

qE §
@) 12
B) 6
© 3

(D) 15

diew el @1 Temf wilen 3

(A) KAISO,), -12H,0

(B) (NH,),FeSO, - 6H,0

(C) KAIMgCl, - 6H,0

(D) NajAlF,

1 % @ e fsor % o o wew % w A
T g3 87

(A) VRiow &

B) et

(C) WX

(D) T sma™

e # @ et vamafe wfafseen wwa 37
(A) MgSO, +Fe
(B) ZnSO, + Fe
(C) MgSO, +Pb

(D) CuSO, +Fe

[P30.
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“( Life “Science / $fiaq-fam )

184. Which part of the brain controls
muscular coordination?

(A) Cerebrum
(B) Cerebellum
(C) Pons
(D) Medulla
185. Which of the following is homologous
organ to the wings of birds?
(A} Wings of insect
(B) Wings of bat
(C) Gills of fish
(D) Hind limbs of human
‘186. Frorﬁ which part of the poppy plant,
morphine is obtained?
(A) Fruit
(B) Stem
(C) Flower

(D) Root

187, Silicosis is
(A) respiratory disorder
(B) nervous disorder
(C) excretory disorder

(D) reproductive disorder
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184. uferss w1 =H-u1 e = ooy =1 A

L 27
(A) afem
(B) WRe™
(C) di=

(D) #ge

. = # @ s9-w it ¥ T@ w1 e e

27

A) #RFvE
(B) =ES % G
(C) TSE & TeES
(D) ¥ &N
;ﬁw%q‘r&%aﬁq-ﬁmﬁwﬁqm@aﬁ
?

(A) &

(B) @

© ™

(D) T

187. Rfvmfa

(A) & AR
(B) dbrenr-a fepr |
(©) mr:hﬁam |
(D) W fawr



188.

189,

190.

191.

Which of the following layers is thick at
the sole and the palm?

(A) Stratum gértninativum
(B) Stratum lucidum
(C} Stratum corneum

(D) Stratyu;n4spinosum
o
Cellular respiration takes place in
(A) mitochondria
T
(B) Golgi body

(C) endoplasmic Treticulum -

(D) ribosome

The largest cell in the blocid is
(A) basophil |
(B) acidophil

{C) monocyte

(D) lymphocyte

Loop of Henle f'is‘:"‘&i?icefne’d with which
of the following? '
(A) Excretory system
{(B) Muscle sys_t_agm;.,_‘{ 5 -

(C) Reproductive systeéins

(D) Nervous systeﬁl o

JAPRA-01A/14/A
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A S afRREn

(B) Qe g
(C) Wem Hifan
(D) émw@m

189. FREN wau frai gt &7

(A) st

(B) wﬁ-—«ﬁm

©) TR g
(D) TR

190.»mﬁaaﬁa§ﬁaﬁ&m%

(a) <EfEe
B) Wdfsa
(€) m
(D) fwerars

191. ﬁmm’ﬁ;ﬁﬁmm%? .

(A) e o
B) ¥
(C) SFAax

(D) afT o

[ P.T.O.




192. Volume of urine is regulated by 192. 73 H nen = fafae wwa t

(A) aldosterone (A) YeERIA
(B) aldosterone + antidiuretic hormone / (B) VB + @3@@% e
(C) testosterone + oxytocin (C) TR + Atwfafe
(D) antidiuretic hormone (D) W’s‘;ﬂiﬁﬂ; A
193. Site of fertilization in mammals is 193. waRE! # fi=m &1 vl @
(A) seminal vesicle | \ (A) {EFI!W
(B) epididymis » (B) g
(C) vasa deferentia : © Wﬁ‘ﬁ
(D) Fallopian tube (D) Rt et
194. Graafian follicle is found in 194. Tk gRew wid ot 2
(A) intestine | . (A) AR
(B) kidney (B) T H
(C) ovary (C) 3werEE
(D) testis | (D) qwr #
195. Which of the following is hot a 195. P & & #F-d = sRa-T8 (greenhouse)
greenhouse gas? | g 7 37 :
(A) Hydrogen | (A) TGS
(B) Methane B) =
(C) Carbon dioxide | (C) FEA SHATAEE
(D) Chlorofluorocarbon (D) H@ﬁﬁmﬂ?ﬁh
196. Sth June is celebrated every year as 196. WA= 5 I3 B WA S ]
(A) World Heart Day (A) ﬁmmﬁw
(B) World Environment Day B) fva gatawr Raw
(C) World Voting Day () Fva waem fmm
(D) World Friendship Day (D) faw & femm
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197. Which is the State Bird of Madhya.

Pradesh?

(A) Asian Paradise Flycatcher
(B) Yellow-footed Green Pigeon
(C) Black-necked Crane

(D) Black-crested Bulbul

198. Sone Gharial Wildlife

located in

Sanctuary is

(A) Assam
(B) Rajasthan
(C) Uttar Pradesh

(D) Madhya Pradesh

199. The most serious environmental effect

posed by hazardous waste is

(A) air pollution

(B) contamination of groundwater
(C) increase of gases

(D) habitat destruction

200. The best way to recharge hand pumps

and wells is
(A) rainwater harvesting
(B) stopping irrigation

(C) use of less water in washing
clothes

(D) recycling of waste water
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- 197, WS WM W o4 va H-w ¥

198.

199.

(A) TREA e wemgFE
(B) ¥N-pee WA fem

(C) =H-I%E

(D) =VH-3E Forgel

WA ufEarel a-9g ey R §
(A) orw i

(B) T §

(C) SHwm#

(D) Wex W #

e F ¥ I Afa iR wiewis v
N . _

(A) AR EE
(B) VPrTa Siet T WG
© HIx

(D) 3w & faAm

. & il 3 Foll F gEw @ W wER B

alver ¥

A) aui-S@ T

B) T w s

() R G § O o I

(D) i} a1 GAEH

-IPT.O.
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INSTRUCTIONS REGARDING METHOD OF ANSWERING QUESTIONS

W % I A vt fEw

. Handing over

(Please use Black Ballpoint Pen)

. Method of Marking Answers :

To answer a question, please darken
only one bubble out of the given four, in
the OMR Answer-Sheet against that
question.

. Valuation Procedure :

There are four alternative answers to a
question, only one of them is correct.
One mark will be awarded for each
correct answer. If more than one bubble
are darkened for a question, it will be
presumed that the candidate does not
know the correct answer, hence, no
mark shall be awarded.

. Cancellation or Change in Answer :

It will not be possible to change the
marked bubble with Black Ballpoint Pen.
Therefore, correct answer should be
carefully chosen before marking it on the
OMR Answer-Sheet.

of Answer-Sheet to
Invigilator :

() Please ensure that all entries in the
Answer-Sheet are filled up properly,
i.e., Name, Roll No., Signature,
Question Booklet No., etc., before
handing over to the Invigilator.

() CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

. Care in Handling the Answer-Sheet :

While using the Answer-Sheet, adequate
care should be taken. Do not tear or
spoil the Answer-Sheet by folding or
wrinkling. The impression of the circle
made by Black Ballpoint Pen should not
come behind the Answer-Sheet.

(Fuan wT AiA-dige U T TGRT W)
I 37 7w

IR W F R e woe Mo IW-w

T T % g Ry g 9w Aat § |
FIA TH M Bl T FIAT H|

qeaTaT UG

T WY o 9N A I, 3§ Faw

T I g8 ¥| T A G W Afhd F@ @
T F® TW ) AR w9 U F
fbr s &, 7@ wen e R wlenelf #@
T 1 WE IR AW A 2 3R 3 A 37w
T few smdt)

. I & A AT qT AT

IR e 1 fm w0 % R F@

AA-I1g= 9 F W T et & T ) sgam

T TE A1 3a: 3o Wo Ao IW-vA |

I W NN WA F @ @ W W T

AU |

IW-9F erew & qigar :

(i) s w IW-9F G F g ghba
- W d 5o d o e S—
T, T T, TR, TH-gAw W
wA 3Tfe Futfa e w de-ds W
T F

(i) uften & IWra dgmef W -
IFEET o Wy & WA R e
7l

IW-UF & Iy ¥ qraur ;

SW-9 H TN A I G0 R/E A grayrh

T @ B, M A1 a0 Ut Q@ @O |
B 3 @ H AA-9ig U7 Q Nen Fen
aE grEadE @ w1 fR TR o IR ¥

913 T 3§ & ey
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